EECS70A / CSE 70A Network Analysis |
Prof. Peter Burke
Homework # 7 solution

Chapter 9, Solution 38.
N E S
6 joC  j3)(1/6)

'J2

_12
— 2" (10./45% = 4.472 / -18.43°
4= 210445 8.43

Hence, i(t) = 4.472cos(3t—18.43°) A

V =4l = (4)(4.472.£ -18.43°) = 17.89 / -18.43°
Hence, v(t) = 17.89 cos(3t—18.43°)V
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Hence, i(t) = 10 cos(4t +36.87°) A
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Hence, v(t) = 41.6cos(4t +33.69°) V

Chapter 9, Solution 49.
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ix = 0.5sin200t = 0.5c0s(200t-90°)
Ix=0.5~,-90°
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I, = (1—2_)\/—5:0.54—900 using current divider
1+ 4

V, =(0.52-90°)4- (1_—+21) ~1.414/ -135°
j

v,(t) = 1.414c05(200t-135%)= 1.414 sin(200t — 45°) V

Chapter 9, Solution 57.
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Chapter 9, Solution 64.
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Chapter 14, Solution 48.
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H(0)=1 and H(«) =0 showing that this circuit is a lowpass filter.

Chapter 14, Solution 50.

H(o) = v = A%
Y=V TR+ joL

H(0)=0 and H(w) =1 showing that this circuit is a highpass filter.
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